

## A-BEREZIN NUMBER OF OPERATORS

MEHMET GÜRDAL AND HAMDULLAH BAŞARAN

**Abstract.** We introduce the notions  $(A, r)$ -adjoint of operators and  $A$ -Berezin number of operators on the reproducing kernel Hilbert space and prove some inequalities for  $A$ -Berezin number of operators. Some other related questions are also discussed.

### 1. Introduction

Let  $\mathcal{H} = \mathcal{H}(\Omega)$  be a reproducing kernel Hilbert space on some set  $\Omega$  with the reproducing kernel  $k_\lambda \in \mathcal{H}$ , i.e.,  $f(\lambda) = \langle f, k_\lambda \rangle$  for all  $f \in \mathcal{H}$  and all  $\lambda \in \Omega$ . It is supposed that for every  $\lambda \in \Omega$  there exists a function  $f_\lambda \in \mathcal{H}$  such that  $f_\lambda(\lambda) \neq 0$ , or equivalently there is no  $\lambda_0 \in \Omega$  such that  $f(\lambda_0) = 0$  for all  $f \in \mathcal{H}$ .

Let  $\mathcal{B}(\mathcal{H})$  denote the Banach algebra of all bounded linear operators on  $\mathcal{H}$  with an inner product  $\langle \cdot, \cdot \rangle$  and the corresponding norm  $\|\cdot\|$ . For an operator  $A \in \mathcal{B}(\mathcal{H})$ , its Berezin symbol  $\tilde{A}$  is defined by

$$\tilde{A}(\lambda) = \left\langle A\hat{k}_\lambda, \hat{k}_\lambda \right\rangle, \quad \lambda \in \Omega,$$

where  $\hat{k}_\lambda := \frac{k_\lambda}{\|k_\lambda\|_{\mathcal{H}}}$  is the normalized reproducing kernel of  $\mathcal{H}$ . The Berezin set, Berezin number and Berezin norm of operators are defined, respectively, by (see [7] and [15])

$$\begin{aligned} \text{Ber}(A) &= \text{Range}(\tilde{A}) = \left\{ \tilde{A}(\lambda) : \lambda \in \Omega \right\}, \\ \text{ber}(A) &= \sup_{\lambda \in \Omega} \left| \tilde{A}(\lambda) \right|, \end{aligned}$$

and

$$\|A\|_{\text{Ber}} = \sup_{\lambda \in \Omega} \left\| A\hat{k}_\lambda \right\|_{\mathcal{H}}.$$

Clearly  $\text{Ber}(A) \subseteq W(A)$  (numerical range),  $\text{ber}(A) \leq w(A)$  (numerical radius) and  $\text{ber}(A) \leq \|A\|_{\text{Ber}} \leq \|A\|$  for all operators  $A \in \mathcal{B}(\mathcal{H})$  (for more facts about reproducing kernel Hilbert spaces and Berezin symbol, see, Aronzajn [3] and Berezin [7]).

The null space of every operator  $T$  is denoted by  $\mathcal{N}(T)$ , its range by  $\mathcal{R}(T)$ , and adjoint of  $T$  by  $T^*$ . If  $S$  is a linear subspace of  $\mathcal{H}$ , then  $\overline{S}$  stands for its closure in the norm topology of  $\mathcal{H}$ . An operator  $A \in \mathcal{B}(\mathcal{H})$  is called positive,

---

2010 *Mathematics Subject Classification.* 47A30, 47A63, 47B35.

*Key words and phrases.* Reproducing kernel Hilbert space, Berezin symbol, Berezin number,  $A$ -Berezin number, positive operator.

denoted by  $A \geq 0$ , if  $\langle Ax, x \rangle \geq 0$  for all  $x \in \mathcal{H}$ . For  $T \in \mathcal{B}(\mathcal{H})$ , the absolute value of  $T$ , denoted by  $|T|$ , is defined as  $|T| = (T^*T)^{1/2}$ . Throughout the article,  $A$  denotes a non-zero positive operator on  $\mathcal{H}$ . Notice that any positive operator  $A$  induces a semi-inner product on  $\mathcal{H}$  defined by

$$\langle x, y \rangle_A := \langle Ax, y \rangle_{\mathcal{H}}, \quad \forall x, y \in \mathcal{H}.$$

The seminorm induced by  $\langle \cdot, \cdot \rangle_A$  is given by  $\|x\|_A = \sqrt{\langle x, x \rangle_A} = \|A^{1/2}x\|$  for all  $x \in \mathcal{H}$ .

It is easy to check that  $\|\cdot\|_A$  is norm if and only if  $A$  is injective and that the seminormed space  $(\mathcal{H}, \|\cdot\|_A)$  which is complete if and only if  $\overline{\mathcal{R}(A)} = \mathcal{R}(A)$ .

**Definition 1.1.** For  $T \in \mathcal{B}(\mathcal{H})$ , the  $A$ -Berezin set of  $\langle T\widehat{k}_\lambda, \widehat{k}_\lambda \rangle_A$  is defined by

$$\text{Ber}_A(T) := \left\{ \langle T\widehat{k}_\lambda, \widehat{k}_\lambda \rangle_A : \lambda \in \Omega \right\}.$$

It should be mentioned that  $\text{Ber}_A(T)$  is a nonempty subset of  $\mathbb{C}$  and it is in general not closed even if  $\mathcal{H}$  is finite dimensional.

**Definition 1.2.** (i) The supremum modulus of  $\text{Ber}_A(T)$ , denoted by  $\text{ber}_A(T)$ , is called the  $A$ -Berezin number of  $T$ , i.e.,

$$\text{ber}_A(T) := \sup_{\lambda \in \Omega} \left| \langle T\widehat{k}_\lambda, \widehat{k}_\lambda \rangle_A \right|.$$

(ii)  $A$ -Berezin norm of operators  $T \in \mathcal{B}(\mathcal{H}(\Omega))$  is defined by

$$\|A\|_{A\text{-Ber}} := \sup_{\lambda \in \Omega} \left\| AT\widehat{k}_{\mathcal{H},\lambda} \right\|_{\mathcal{H}}.$$

If  $A = I$ , we get the Berezin number. So, this new concept generalizes the Berezin number of reproducing kernel Hilbert space operators and the Berezin norm of operators which have recently attracted the attention of many authors (see, for instance [4, 5, 6, 16, 17, 18, 21, 22, 23, 24]).

**Definition 1.3** ([13]). Let  $T \in \mathcal{B}(\mathcal{H})$ . An operator  $S \in \mathcal{B}(\mathcal{H})$  is called an  $A$ -adjoint of  $T$  if for every  $x, y \in \mathcal{H}$ , identity  $\langle Tx, y \rangle_A = \langle x, Sy \rangle_A$  holds.

**Definition 1.4.** Let  $T \in \mathcal{B}(\mathcal{H}(\Omega))$ . An operator  $S \in \mathcal{B}(\mathcal{H}(\Omega))$  is called  $(A, r)$ -adjoint of  $T$  if for every  $\lambda, \mu \in \Omega$ , the identity  $\langle T\widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\mu} \rangle_A = \langle \widehat{k}_{\mathcal{H},\lambda}, S\widehat{k}_{\mathcal{H},\mu} \rangle_A$  holds.

Following [13], observe that the existence of an  $A$ -adjoint of  $T$  is equivalent to the existence of a solution of the equation  $AX = T^*A$ . This kind of equations can be studied by using a well-known theorem due to Douglas [10] (for a survey of the recent results on this theorem, the readers can consult in Moslehian, Kian and Xu [20]). Briefly, Douglas theorem says that the operator equation  $TX = S$  has a bounded linear solution  $X$  if and only if  $\mathcal{R}(S) \subseteq \mathcal{R}(T)$ ; moreover, among its many solutions it has only one, denoted by  $Q$ , which satisfies  $\mathcal{R}(Q) \subseteq \overline{\mathcal{R}(T^*)}$ . Such  $Q$  is called the reduced solution or Douglas solution of  $TX = S$ . The set of all operators in  $\mathcal{B}(\mathcal{H})$  admitting  $A$ -adjoint is denoted by  $\mathcal{B}_A(\mathcal{H})$ . By Douglas theorem, it holds that

$$\mathcal{B}_A(\mathcal{H}) = \{T \in \mathcal{B}(\mathcal{H}) : \mathcal{R}(T^*A) \subseteq \mathcal{R}(A)\}.$$

Further, the set all operators admitting  $A^{1/2}$ -adjoints is denoted by  $\mathcal{B}_{A^{1/2}}(\mathcal{H})$ . Again, by applying Douglas theorem, we obtain

$$\mathcal{B}_{A^{1/2}}(\mathcal{H}) = \{T \in \mathcal{B}(\mathcal{H}) : \exists \lambda > 0, \|Tx\|_A \leq \lambda \|x\|_A, \forall x \in \mathcal{H}\}.$$

Operators in  $\mathcal{B}_{A^{1/2}}(\mathcal{H})$  are called  $A$ -bounded.

If  $T \in \mathcal{B}_A(\mathcal{H})$ , the reduced solution (or Douglas solution) of the equation  $AX = T^*A$  is a distinguished  $A$ -adjoint operator of  $T$ , which is denoted by  $T^{*A}$ . We observe that

$$T^{*A} = A^\dagger T^* A,$$

where  $A^\dagger$  is the Moore-Penrose inverse of  $A$  (see [1, 2]). It is well-known that the operator  $T^{*A}$  satisfies

$$AT^{*A} = T^*A, \mathcal{R}(T^{*A}) \subseteq \overline{\mathcal{R}(A)} \text{ and } \mathcal{N}(T^{*A}) = \mathcal{N}(T^*A).$$

Also, note that if  $T \in \mathcal{B}_A(\mathcal{H})$ , then  $T^{*A} \in \mathcal{B}_A(\mathcal{H})$  and  $(T^{*A})^{*A} = P_A T P_A$ , where  $P_A$  denotes the orthogonal projection onto  $\overline{\mathcal{R}(A)}$ . Moreover, if  $T \in \mathcal{B}_A(\mathcal{H})$ , then  $\|T^{*A}\| = \|T\|_A$ . For more results and proofs related to this class of operators, the reader can consult in [1, 2] and their references.

An operator  $T \in \mathcal{B}(\mathcal{H})$  is said to be  $A$ -selfadjoint if  $AT$  is selfadjoint, that is,  $AT = T^*A$ . In addition, an operator  $T$  is called  $A$ -positive if  $AT \geq 0$  and we write  $T \geq_A 0$ .

In the sequel, the Hilbert space  $(\mathcal{R}(A^{1/2}), \langle \cdot, \cdot \rangle_{\mathbb{R}(A^{1/2})})$  will be simply denoted by  $\mathbb{R}(A^{1/2})$ .

Using these notions, in [13], the author investigated  $A$ -numerical radius of operators.

In the present article, we introduce analogs of these new concepts by using  $(A, r)$ -adjoint of operators and prove some inequalities for  $A$ -Berezin number and  $A$ -Berezin norm of operators on the reproducing kernel Hilbert spaces.

## 2. $A$ -Berezin number and $A$ -Berezin norm of operators on reproducing kernel Hilbert spaces

Let  $\mathcal{H} = \mathcal{H}(\Omega)$  be a reproducing kernel Hilbert space with reproducing kernel  $k_{\mathcal{H},\lambda}$ . For  $T \in \mathcal{B}(\mathcal{H})$ , we define

$$\eta_A(T) := \inf_{\lambda \in \Omega} \left\| T \widehat{k}_{\mathcal{H},\lambda} \right\|_A.$$

In this section, we study the relationship between  $A$ -Berezin number and  $A$ -Berezin norm of operators and prove new inequalities.

It is natural to define the  $A$ -Berezin symbol of operator  $T \in \mathcal{B}(\mathcal{H}(\Omega))$  by the formula

$$\widetilde{T}_A(\lambda) := \left\langle T \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \right\rangle_A = \left\langle AT \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \right\rangle, \lambda \in \Omega.$$

We denote the set of all operators in  $\mathcal{B}(\mathcal{H}(\Omega))$  admitting  $(A, r)$ -adjoints by  $\mathcal{B}_{A,r}(\mathcal{H}) := \mathcal{B}_{A,r}(\mathcal{H}(\Omega))$ . Our first result proves inequalities between  $\|T\|_{A\text{-Ber}}$  and  $w_A(T)$  with  $A$  in  $\mathcal{B}_{A,r}(\mathcal{H})$ .

**Theorem 2.1.** *Let  $T \in \mathcal{B}_{A,r}(\mathcal{H})$ . Then*

$$\frac{1}{2} \|T\|_{A\text{-Ber}} \leq \sqrt{\frac{1}{4} \|T\|_{A\text{-Ber}}^2 + \frac{1}{4} [\max(\eta_A(T), \eta_A(T^{*A}))]^2} \leq \text{ber}_A(T).$$

*Proof.* Let  $\lambda \in \Omega$  be arbitrary. An elementary calculus shows that

$$\left\| T\widehat{k}_{\mathcal{H},\lambda} \right\|_A^2 + \left\| T^{*A}\widehat{k}_{\mathcal{H},\lambda} \right\|_A^2 = \frac{1}{2} \left[ \left\| T\widehat{k}_{\mathcal{H},\lambda} - T^{*A}\widehat{k}_{\mathcal{H},\lambda} \right\|_A^2 + \left\| T\widehat{k}_{\mathcal{H},\lambda} + T^{*A}\widehat{k}_{\mathcal{H},\lambda} \right\|_A^2 \right].$$

This implies that

$$\eta_A^2(T) + \left\| T^{*A}\widehat{k}_{\mathcal{H},\lambda} \right\|_A^2 \leq \frac{1}{2} \left[ \left\| T\widehat{k}_{\mathcal{H},\lambda} - T^{*A}\widehat{k}_{\mathcal{H},\lambda} \right\|_A^2 + \left\| T\widehat{k}_{\mathcal{H},\lambda} + T^{*A}\widehat{k}_{\mathcal{H},\lambda} \right\|_A^2 \right].$$

By taking supremum over all  $\lambda \in \Omega$  and using the fact that  $\|T\|_{A-\text{Ber}} = \|T^{*A}\|_{A-\text{Ber}}$ , we get

$$\eta_A^2(T) + \|T^{*A}\|_{A-\text{Ber}}^2 \leq \frac{1}{2} \left[ \|T - T^{*A}\|_{A-\text{Ber}}^2 + \|T + T^{*A}\|_{A-\text{Ber}}^2 \right]. \quad (2.1)$$

Since  $AT^{*A} = T^{*A}A$ , it is easy to see that

$$\begin{aligned} \left\langle (T + T^{*A})\widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\mu} \right\rangle_A &= \left\langle A(T + T^{*A})\widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\mu} \right\rangle \\ &= \left\langle (AT + AT^{*A})\widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\mu} \right\rangle \\ &= \left\langle AT\widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\mu} \right\rangle + \left\langle AT^{*A}\widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\mu} \right\rangle \\ &= \left\langle (T^{*A})^*A\widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\mu} \right\rangle + \left\langle T^*A\widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\mu} \right\rangle \\ &= \left\langle (T + T^{*A})^*A\widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\mu} \right\rangle \\ &= \left\langle A\widehat{k}_{\mathcal{H},\lambda}, (T + T^{*A})\widehat{k}_{\mathcal{H},\mu} \right\rangle \end{aligned}$$

for all  $\lambda, \mu \in \Omega$ . This means that  $T + T^{*A}$  is an  $(A, r)$ -selfadjoint operator. Then, it can be proved by using some arguments of the paper [14] (which is omitted) that

$$\|T + T^{*A}\|_{A-\text{Ber}} = \text{ber}_A(T + T^{*A}).$$

This implies that

$$\|T + T^{*A}\|_{A-\text{Ber}} \leq 2\text{ber}_A(T),$$

which, in turn, implies, by using (2.1), that

$$\eta_A^2(T) + \|T^{*A}\|_{A-\text{Ber}}^2 \leq 2 \left( \text{ber}_A^2(T) + \|\text{Im}_A(T)\|_{A-\text{Ber}}^2 \right),$$

where  $\text{Im}_A(T) = \frac{T - T^{*A}}{2i}$ . By similar arguments as above, it can be proven that

$$\eta_A^2(T^{*A}) + \|T\|_{A-\text{Ber}}^2 \leq 2 \left( \text{ber}_A^2(T) + \|\text{Im}_A(T)\|_{A-\text{Ber}}^2 \right).$$

So, we obtain

$$\|T^{*A}\|_{A-\text{Ber}}^2 + [\max(\eta_A(T), \eta_A(T^{*A}))]^2 \leq 2 \left( \text{ber}_A^2(T) + \|\text{Im}_A(T)\|_{A-\text{Ber}}^2 \right). \quad (2.2)$$

By replacing  $T$  by  $iT$  in (2.2), we have

$$\|T\|_{A-\text{Ber}}^2 + [\max(\eta_A(T), \eta_A(T^{*A}))]^2 \leq 2 \left( \text{ber}_A^2(T) + \|\text{Re}_A(T)\|_{A-\text{Ber}}^2 \right). \quad (2.3)$$

By combining (2.2) together with (2.3), we get

$$\|T\|_{A-\text{Ber}}^2 + [\max(\eta_A(T), \eta_A(T^{*A}))]^2 \leq 2 \left( \text{ber}_A^2(T) + m_A(T) \right), \quad (2.4)$$

where

$$m_A(T) := \min \left( \|\operatorname{Re}_A(T)\|_{A\text{-Ber}}^2, \|\operatorname{Im}_A(T)\|_{A\text{-Ber}}^2 \right).$$

On the other hand, for  $\lambda \in \Omega$ , we have that

$$\begin{aligned} \left| \left\langle T \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \right\rangle_A \right|^2 &= \left| \left\langle \operatorname{Re}_A(T) \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \right\rangle_A + i \left\langle \operatorname{Im}_A(T) \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \right\rangle_A \right|^2 \\ &= \left| \left\langle \operatorname{Re}_A(T) \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \right\rangle_A \right|^2 + \left| \left\langle \operatorname{Im}_A(T) \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \right\rangle_A \right|^2 \\ &\geq \left| \left\langle \operatorname{Re}_A(T) \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \right\rangle_A \right|^2. \end{aligned} \quad (2.5)$$

Now, using that

$$\operatorname{ber}_A(\operatorname{Re}_A(T)) = \|\operatorname{Re}_A(T)\|_{A\text{-Ber}}^2$$

(since  $\operatorname{Re}_A(T)$  is  $(A, r)$ -selfadjoint), and so  $\operatorname{ber}_A^2(T) \geq m_A(T)$ , by taking the supremum over all  $\lambda \in \Omega$  in inequality (2.5), we have by considering (2.4) that

$$\|T\|_{A\text{-Ber}}^2 + [\max(\eta_A(T), \eta_A(T^{*A}))]^2 \leq 4\operatorname{ber}_A^2(T).$$

This yields that

$$\frac{1}{2} \|T\|_{A\text{-Ber}} \leq \sqrt{\frac{1}{4} \|T\|_{A\text{-Ber}}^2 + \frac{1}{4} [\max(\eta_A(T), \eta_A(T^{*A}))]^2} \leq \operatorname{ber}_A(T),$$

as desired. The theorem is proved.  $\square$

**Proposition 2.1.** *Let  $T \in \mathcal{B}(\mathcal{H}(\Omega))$  be an  $(A, r)$ -selfadjoint operator. Then  $T^{*A}$  is  $(A, r)$ -selfadjoint and*

$$(T^{*A})^{*A} = T^{*A}. \quad (2.6)$$

*Proof.* Since  $T$  is an  $(A, r)$ -selfadjoint operator,  $T \in \mathcal{B}_{A,r}(\mathcal{H}(\Omega))$ . For every  $\lambda, \mu \in \Omega$ , we have

$$\begin{aligned} \left\langle AT^{*A} \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\mu} \right\rangle &= \left\langle T^* A \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\mu} \right\rangle \\ &= \left\langle AT \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\mu} \right\rangle \quad (\text{since } T \text{ is } (A, r)\text{-selfadjoint}) \\ &= \left\langle \widehat{k}_{\mathcal{H},\lambda}, T^{*A} \widehat{k}_{\mathcal{H},\mu} \right\rangle_A = \left\langle (T^{*A})^* A \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\mu} \right\rangle. \end{aligned}$$

Hence,  $T^{*A}$  is  $(A, r)$ -selfadjoint. This implies that  $T^{*A}$  is a solution of the equation  $AX = (T^{*A})^* A$ , since  $\operatorname{span} \{ \widehat{k}_{\mathcal{H},\lambda} : \lambda \in \Omega \} = \mathcal{H}$ . Moreover, we have  $\mathcal{R}(T^{*A}) \subseteq \overline{\mathcal{R}(A)}$ . Therefore, by the uniqueness of the Douglas solution, (2.6) follows. The proposition is proved.  $\square$

Now we give  $A$ -Berezin number inequalities for sum of operators. We need the following lemma (see, [14] and [8]).

**Lemma 2.1.** *For any  $x, y, z \in \mathcal{H}$ , we have*

$$|\langle x, y \rangle_A|^2 + |\langle x, z \rangle_A|^2 \leq \|x\|_A^2 \left( \max \{ \|y\|_A^2, \|z\|_A^2 \} + |\langle y, z \rangle_A| \right). \quad (2.7)$$

*Proof.* Indeed, by the proof of [11, Theorem 3] we have

$$|\langle x, y \rangle|^2 + |\langle x, z \rangle|^2 \leq \|x\|^2 \left( \max \{ \|y\|^2, \|z\|^2 \} + |\langle y, z \rangle| \right), \quad (2.8)$$

for every  $x, y, z \in \mathcal{H}$ . Now

$$|\langle x, y \rangle_A|^2 + |\langle x, z \rangle_A|^2 = \left| \langle A^{1/2}x, A^{1/2}y \rangle \right|^2 + \left| \langle A^{1/2}x, A^{1/2}z \rangle \right|^2.$$

So, by applying (2.8), we have

$$|\langle x, y \rangle_A|^2 + |\langle x, z \rangle_A|^2 \leq \|A^{1/2}x\|^2 \left( \max \left\{ \|A^{1/2}y\|^2, \|A^{1/2}z\|^2 \right\} + \left| \langle A^{1/2}y, A^{1/2}z \rangle \right| \right).$$

Hence, we have (2.7), as desired. This proves the lemma.  $\square$

**Theorem 2.2.** *Let  $T, S \in \mathcal{B}_{A,r}(\mathcal{H}(\Omega))$ . Then*

$$\text{ber}_A(T + S) \leq$$

$$\sqrt{\frac{1}{2}(\text{ber}_A(TT^{*A} + SS^{*A}) + \text{ber}_A(TT^{*A} - SS^{*A})) + \text{ber}_A(ST^{*A}) + 2\text{ber}_A(T)\text{ber}_A(S)}.$$

*Proof.* It is well known that

$$\max\{t, s\} = \frac{1}{2}(t + s + |t - s|) \quad (2.9)$$

for every  $t, s \in \mathbb{R} := (-\infty, +\infty)$ .

Let  $\lambda \in \Omega$  be arbitrary. Using Lemma 2.1 we get

$$\begin{aligned} & \left| \langle (T + S)\widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \rangle_A \right|^2 \\ & \leq \left| \langle \widehat{k}_{\mathcal{H},\lambda}, T^{*A}\widehat{k}_{\mathcal{H},\lambda} \rangle_A \right|^2 + \left| \langle \widehat{k}_{\mathcal{H},\lambda}, S^{*A}\widehat{k}_{\mathcal{H},\lambda} \rangle_A \right|^2 \\ & + 2 \left| \langle T\widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \rangle_A \right| \left| \langle S\widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \rangle_A \right| \\ & \leq \max \left\{ \|T^{*A}\widehat{k}_{\mathcal{H},\lambda}\|_A^2, \|S^{*A}\widehat{k}_{\mathcal{H},\lambda}\|_A^2 \right\} + \left| \langle ST^{*A}\widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \rangle_A \right| \\ & + 2 \left| \langle T\widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \rangle_A \right| \left| \langle S\widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \rangle_A \right| \\ & = \frac{1}{2} \left( \|T^{*A}\widehat{k}_{\mathcal{H},\lambda}\|_A^2 + \|S^{*A}\widehat{k}_{\mathcal{H},\lambda}\|_A^2 + \left| \|T^{*A}\widehat{k}_{\mathcal{H},\lambda}\|_A^2 - \|S^{*A}\widehat{k}_{\mathcal{H},\lambda}\|_A^2 \right| \right) \\ & + \left| \langle ST^{*A}\widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \rangle_A \right| \\ & + 2 \left| \langle T\widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \rangle_A \right| \left| \langle S\widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \rangle_A \right| \quad (\text{by (2.9)}) \\ & \leq \frac{1}{2} \left( \langle (TT^{*A} + SS^{*A})\widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \rangle_A + \left| \langle (TT^{*A} - SS^{*A})\widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \rangle_A \right| \right) \\ & + \left| \langle ST^{*A}\widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \rangle_A \right| + 2 \left| \langle T\widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \rangle_A \right| \left| \langle S\widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \rangle_A \right| \\ & \leq \frac{1}{2}(\text{ber}_A(TT^{*A} + SS^{*A}) + \text{ber}_A(TT^{*A} - SS^{*A})) \\ & + \text{ber}_A(ST^{*A}) + 2\text{ber}_A(T)\text{ber}_A(S), \end{aligned}$$

this proves the theorem.  $\square$

The following lemma in [8] is needed for our next result.

**Lemma 2.2.** *Let  $x, y, z \in \mathcal{H}$  with  $\|e\|_A = 1$ . Then*

$$|\langle x, e \rangle_A \langle e, y \rangle_A| \leq \frac{1}{2} (|\langle x, y \rangle_A| + \|x\|_A \|y\|_A).$$

**Proposition 2.2.** *Let  $T, S \in \mathcal{B}_{A,r}(\mathcal{H}(\Omega))$ . Then*

$$\text{ber}_A(T + S) \leq \sqrt{\text{ber}_A^2(T) + \text{ber}_A^2(S) + \frac{1}{2}(\text{ber}_A(T^*AT + SS^*A))} + \text{ber}_A(ST). \quad (2.10)$$

*Proof.* Let  $\lambda \in \Omega$  be arbitrary. It is easy to check that

$$\begin{aligned} \left| \left\langle (T + S) \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \right\rangle_A \right|^2 &\leq \left| \left\langle T \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \right\rangle_A \right|^2 + \left| \left\langle S \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \right\rangle_A \right|^2 \\ &\quad + 2 \left| \left\langle T \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \right\rangle_A \right| \left| \left\langle S \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \right\rangle_A \right| \\ &= \left| \left\langle T \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \right\rangle_A \right|^2 + \left| \left\langle S \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \right\rangle_A \right|^2 \\ &\quad + 2 \left| \left\langle T \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \right\rangle_A \right| \left| \left\langle \widehat{k}_{\mathcal{H},\lambda}, S^*A \widehat{k}_{\mathcal{H},\lambda} \right\rangle_A \right|. \end{aligned}$$

Using the Lemma 2.2, we get

$$\begin{aligned} \left| \left\langle (T + S) \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \right\rangle_A \right|^2 &\leq \left| \left\langle T \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \right\rangle_A \right|^2 + \left| \left\langle S \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \right\rangle_A \right|^2 \\ &\quad + \left\| T \widehat{k}_{\mathcal{H},\lambda} \right\|_A \left\| S^*A \widehat{k}_{\mathcal{H},\lambda} \right\|_A + \left| \left\langle T \widehat{k}_{\mathcal{H},\lambda}, S^*A \widehat{k}_{\mathcal{H},\lambda} \right\rangle_A \right| \\ &= \left| \left\langle T \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \right\rangle_A \right|^2 + \left| \left\langle S \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \right\rangle_A \right|^2 \\ &\quad + \sqrt{\left\langle T^*AT \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \right\rangle_A \left\langle SS^*A \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \right\rangle_A} \\ &\quad + \left| \left\langle ST \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \right\rangle_A \right|. \end{aligned}$$

Now, by using the arithmetic-geometric mean inequality we get

$$\begin{aligned} &\left| \left\langle (T + S) \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \right\rangle_A \right|^2 \\ &\leq \text{ber}_A^2(T) + \text{ber}_A^2(S) \\ &\quad + \frac{1}{2} \left( \left| \left\langle T^*AT \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \right\rangle_A \right| + \left| \left\langle SS^*A \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \right\rangle_A \right| \right) + \text{ber}_A(ST) \\ &= \text{ber}_A^2(T) + \text{ber}_A^2(S) + \frac{1}{2} \left\langle (T^*AT + SS^*A) \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \right\rangle_A + \text{ber}_A(ST) \\ &\leq \text{ber}_A^2(T) + \text{ber}_A^2(S) + \frac{1}{2} \text{ber}_A(T^*AT + SS^*A) + \text{ber}_A(ST), \end{aligned}$$

hence, we get (2.10) as required.  $\square$

**Corollary 2.1.** *Let  $T \in \mathcal{B}_{A,r}(\mathcal{H}(\Omega))$ . Then*

$$\text{ber}_A(T) \leq \frac{1}{2} \sqrt{2\text{ber}_A^2(T) + \text{ber}_A(T^2) + \text{ber}_A(T^*AT + TT^*A)}.$$

*Proof.* To put  $S = T$  in Proposition 2.2.  $\square$

**Proposition 2.3.** For  $i = 1, 2, \dots, k$ , let  $S_i \in \mathcal{B}_{A,r}(\mathcal{H}(\Omega))$ . Then

$$\begin{aligned} \text{ber}_A^{4n} \left( \sum_{i=1}^k S_i \right) &\leq \frac{k^{4n-1}}{4} \left[ \left\| (S_i^{*A} S_i)^{2n} + (S_i S_i^{*A})^{2n} \right\|_{A\text{-Ber}} \right. \\ &\quad \left. + 2 \sum_{i=1}^k \text{ber}_A \left( (S_i^{*A} S_i)^n + (S_i S_i^{*A})^n \right) \right] \end{aligned}$$

for all  $n = 1, 2, \dots$

*Proof.* Let  $\lambda \in \Omega$  be arbitrary. Since  $S_i \in \mathcal{B}_{A,r}(\mathcal{H}(\Omega))$ , so  $S_i \in \mathcal{B}(\mathcal{H}(\Omega))$ . Then we have :

$$\begin{aligned} \left| \left\langle \left( \sum_{i=1}^k S_i \right) \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \right\rangle \right|^{4n} &\leq \left( \sum_{i=1}^k \left| \langle S_i \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \rangle \right| \right)^{4n} \\ &\leq k^{4n-1} \sum_{i=1}^k \left| \langle S_i \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \rangle \right|^{4n} \\ &\leq k^{4n-1} \sum_{i=1}^k \langle |S_i| \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \rangle^{2n} \langle |S_i^*| \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \rangle^{2n}, \end{aligned}$$

$$\begin{aligned} \left( \langle S_i \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \rangle \right)^2 &\leq \langle |S_i| \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \rangle \langle |S_i^*| \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \rangle \\ &\leq k^{4n-1} \sum_{i=1}^k \langle |S_i|^{2n} \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \rangle \langle |S_i^*|^{2n} \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \rangle, \end{aligned}$$

$$\begin{aligned} \left( \langle S \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \rangle \right)^r &\leq \langle S^r \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \rangle, \quad S \geq 0, r \geq 1 \\ &= k^{4n-1} \sum_{i=1}^k \langle |S_i|^{2n} \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \rangle \langle \widehat{k}_{\mathcal{H},\lambda}, |S_i^*|^{2n} \widehat{k}_{\mathcal{H},\lambda} \rangle \\ &\leq \frac{k^{4n-1}}{2} \sum_{i=1}^k \left( \left\| |S_i|^{2n} \widehat{k}_{\mathcal{H},\lambda} \right\| \left\| |S_i^*|^{2n} \widehat{k}_{\mathcal{H},\lambda} \right\| \right. \\ &\quad \left. + \left| \langle |S_i|^{2n} \widehat{k}_{\mathcal{H},\lambda}, |S_i^*|^{2n} \widehat{k}_{\mathcal{H},\lambda} \rangle \right| \right) \\ &\leq \frac{k^{4n-1}}{2} \sum_{i=1}^k \left( \frac{1}{2} \left( \left\| |S_i|^{2n} \widehat{k}_{\mathcal{H},\lambda} \right\|^2 + \left\| |S_i^*|^{2n} \widehat{k}_{\mathcal{H},\lambda} \right\|^2 \right) \right. \\ &\quad \left. + \left| \langle |S_i|^{2n} |S_i^*|^{2n} \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \rangle \right| \right) \\ &\leq \frac{k^{4n-1}}{4} \sum_{i=1}^k \left\langle \left( |S_i|^{4n} + |S_i^*|^{4n} \right) \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \right\rangle \end{aligned}$$



$$\begin{aligned}
& + \frac{k^{4n-1}}{2} \sum_{i=1}^k \left| \left\langle |S_i|^{2n} |S_i^*|^{2n} \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \right\rangle \right| \\
& = \frac{k^{4n-1}}{4} \left\langle \left( \sum_{i=1}^k (|S_i|^{4n} + |S_i^*|^{4n}) \right) \widehat{k}_{\mathcal{H},\lambda} \widehat{k}_{\mathcal{H},\lambda} \right\rangle \\
& + \frac{k^{4n-1}}{2} \sum_{i=1}^k \left| \left\langle |S_i|^{2n} |S_i^*|^{2n} \widehat{k}_{\mathcal{H},\lambda}, \widehat{k}_{\mathcal{H},\lambda} \right\rangle \right| \\
& \leq \frac{k^{4n-1}}{4} \left\| \sum_{i=1}^k |S_i|^{4n} + |S_i^*|^{4n} \right\|_{\text{Ber}} + \frac{k^{4n-1}}{2} \sum_{i=1}^k \text{ber} \left( |S_i|^{2n} |S_i^*|^{2n} \right),
\end{aligned}$$

where the second inequality follows from Bohr's inequality (see [12]), i.e., if for  $i = 1, 2, \dots, n$ ,  $a_i$  be a positive real number, then

$$\left( \sum_{i=1}^k a_i \right)^r \leq k^{r-1} \sum_{i=1}^k a_i^r, \quad r \geq 1$$

and the fifth inequality follows from Bozano's inequality (see [9]), i.e., if  $x, y, e \in \mathcal{H}$  with  $\|e\| = 1$ , then

$$|\langle x, e \rangle| + |\langle e, y \rangle| \leq \frac{1}{2} (\|x\| \|y\| + |\langle x, y \rangle|).$$

Taking the supremum over all  $\lambda \in \Omega$ , we get

$$\text{ber}^{4n} \left( \sum_{i=1}^k S_i \right) \leq \frac{k^{4n-1}}{4} \left\| \sum_{i=1}^k |S_i|^{4n} + |S_i^*|^{4n} \right\|_{\text{Ber}} + \frac{k^{4n-1}}{2} \sum_{i=1}^k \text{ber} \left( |S_i|^{2n} |S_i^*|^{2n} \right). \quad (2.11)$$

Since  $\mathcal{B}_{A,r}(\mathcal{H}(\Omega)) \subseteq \mathcal{B}_{A^{1/2},r}(\mathcal{H}(\Omega))$ , for each  $i = 1, 2, \dots, k$ , we have that  $S_i \in \mathcal{B}_{A^{1/2},r}(\mathcal{H}(\Omega))$ . Therefore, there exists unique  $\widehat{S}_i$  in  $\mathcal{B}(\mathbb{R}(A^{1/2}))$  such that  $\mathbb{Z}_A S_i = \widehat{S}_i \mathbb{Z}_A$ . Now,  $\mathbb{R}(A^{1/2})$  being a complex Hilbert space, so (2.11) implies that

$$\begin{aligned}
\text{ber}^{4n} \left( \sum_{i=1}^k \widehat{S}_i \right) & \leq \frac{k^{4n-1}}{4} \left\| \sum_{i=1}^k |\widehat{S}_i|^{4n} + |\widehat{S}_i^*|^{4n} \right\|_{\mathcal{B}(\mathbb{R}(A^{1/2}))} \\
& + \frac{k^{4n-1}}{2} \sum_{i=1}^k \text{ber} \left( |\widehat{S}_i|^{2n} |\widehat{S}_i^*|^{2n} \right).
\end{aligned}$$

On the other hand, for  $S, T \in \mathcal{B}_{A^{1/2},r}(\mathcal{H})$  we have  $\widehat{S + \lambda T} = \widehat{S} + c\widehat{T}$  and  $\widehat{ST} = \widehat{S}\widehat{T}$  for all  $c \in \mathbb{C}$  (see [14]). Therefore, from the above inequality we have :

$$\begin{aligned}
\text{ber}^{4n} \left( \sum_{i=1}^k S_i \right) & \leq \frac{k^{4n-1}}{4} \left\| \sum_{i=1}^k \left( (\widehat{S}_i)^* \widehat{S}_i \right)^{2n} + \left( \widehat{S}_i (\widehat{S}_i)^* \right)^{2n} \right\|_{\mathcal{B}(\mathbb{R}(A^{1/2}))} \\
& + \frac{k^{4n-1}}{2} \sum_{i=1}^k \text{ber} \left( \left( (\widehat{S}_i)^* \widehat{S}_i \right)^n \left( \widehat{S}_i (\widehat{S}_i)^* \right)^n \right).
\end{aligned}$$

Moreover, since  $(\widehat{S}_i)^* = \widehat{S}_i^{*A}$ , we have

$$\begin{aligned} \text{ber}^{4n} \left( \widehat{\sum_{i=1}^k S_i} \right) &\leq \frac{k^{4n-1}}{4} \left\| \sum_{i=1}^k \left( \widehat{S}_i^{*A} \widehat{S}_i \right)^{2n} + \left( \widehat{S}_i \widehat{S}_i^{*A} \right)^{2n} \right\|_{\mathcal{B}(\mathbb{R}(A^{\frac{1}{2}}))} \\ &\quad + \frac{k^{4n-1}}{2} \sum_{i=1}^k \text{ber} \left( \left( \widehat{S}_i^{*A} \widehat{S}_i \right)^n \left( \widehat{S}_i \widehat{S}_i^{*A} \right)^n \right) \\ &= \frac{k^{4n-1}}{4} \left\| \sum_{i=1}^k \left( (S_i^{*A} S_i)^{2n} + (S_i S_i^{*A})^{2n} \right) \right\|_{\mathcal{B}(\mathbb{R}(A^{\frac{1}{2}}))} \\ &\quad + \frac{k^{4n-1}}{2} \sum_{i=1}^k \text{ber} \left( \left( (S_i^{*A} S_i)^n (S_i S_i^{*A})^n \right) \right). \end{aligned}$$

Thus

$$\begin{aligned} \text{ber}_A^{4n} \left( \sum_{i=1}^k S_i \right) &\leq \frac{k^{4n-1}}{4} \left\| (S_i^{*A} S_i)^{2n} + (S_i S_i^{*A})^{2n} \right\|_{A\text{-Ber}} \\ &\quad + \frac{k^{4n-1}}{2} \sum_{i=1}^k \text{ber}_A \left( (S_i^{*A} S_i)^n + (S_i S_i^{*A})^n \right). \end{aligned}$$

This completes the proof. □

**Corollary 2.2.** *Let  $S \in \mathcal{B}_{A,r}(\mathcal{H}(\Omega))$ . Then*

$$\text{ber}_A^4(S) \leq \frac{1}{4} \left\| (S^{*A} S)^2 + (S S^{*A})^2 \right\|_{A\text{-Ber}} + \frac{1}{2} \text{ber}_A(S^{*A} S^2 S^{*A}).$$

*Proof.* Put  $k = 1$  and  $n = 1$  in Proposition 2.3. □

## References

- [1] M. L. Arias, G. Corach and M. C. Gonzales, Partial isometric in semi-Hilbertian spaces, *Linear Algebra Appl.* **428** (2008), no. 7, 1460–1475.
- [2] M. L. Arias, G. Corach and M. C. Gonzales, Metric properties of projection in semi-Hilbertian spaces, *Integral Equations Operator Theory* **62** (2008), 11–28.
- [3] N. Aronzajn, Theory of reproducing kernels, *Trans. Amer. Math. Soc.* **68** (1950), 337–404.
- [4] M. Bakherad, Some Berezin number inequalities for operator matrices, *Czechoslovak Math. J.* **68** (2018), 997–1009.
- [5] M. Bakherad and U. Yamanci, New estimations for the Berezin number inequality, *J. Inequal. Appl.* **2020** (2020), Article ID 40.
- [6] H. Başaran, M. Gürdal and A. N. Günçan, Some operator inequalities associated with Kantorovich and Hölder-McCarthy inequalities and their applications, *Turkish J. Math.* **43** (2019), no. 1, 523–532.
- [7] F. A. Berezin, Covariant and contravariant symbols for operators, *Math. USSR-Izv.* **6** (1972), 1117–1151.
- [8] P. Bhunia, K. Feki and K. Paul, Numerical radius inequalities for products and sums of semi-Hilbertian space operators, arXiv:2012.12034v1 [math.FA], 2020.

- [9] M. L. Buzano, Generalizzazione della disuguaglianza di Cauchy-Schwarz, *Rend. Sem. Mat. Univ. Politech. Torino* **31** (1974), 405–409.
- [10] R. G. Douglas, On majoration, factorization and range inclusion of operators in Hilbert spaces, *Proc. Amer. Math. Soc.* **17** (1966), 413–416.
- [11] S. S. Dragomir, Some inequalities for the Euclidean operator radius of two operators in Hilbert spaces, *Linear Algebra Appl.* **419** (2006), 256–264.
- [12] S. S. Dragomir, *Inequalities for the numerical radius of linear operators in Hilbert spaces*, Springer Briefs in Mathematics, Springer, Cham., 2013.
- [13] K. Feki, A note on the  $A$ -numerical radius of operators in semi-Hilbert spaces, *Archiv Math. (Basel)* **115** (2020), 535–544.
- [14] K. Feki, Spectral radius of Semi-Hilbertian space operators and its applications, *Ann. Func. Anal.* **11** (2020), 926–946.
- [15] K. Feki, On tuples of commuting operators in positive semidefinite inner product spaces, *Linear Algebra Appl.* **603** (2020), 313–328.
- [16] M. T. Garayev and M. W. Alomari, Inequalities for the Berezin number of operators and related questions, *Complex Anal. Oper. Theory* **15** (2021), Article ID 30.
- [17] M. Garayev, S. Saltan, F. Bouzeffour and B. Aktan, Some inequalities involving Berezin symbols of operator means and related questions, *Rev. R. Acad. Cienc. Exactas Fís. Nat. Ser. A Mat. RACSAM* **114** (2020), no. 85, 1–17.
- [18] M. Hajmohamadi, R. Lashkaripour and M. Bakherad, Improvements of Berezin number inequalities, *Linear Multilinear Algebra* **68** (2020), no. 6, 1218–1229.
- [19] M. T. Karashev, Berezin symbol and invertibility of operators on the functional Hilbert spaces, *J. Funct. Anal.* **238** (2006), 181–192.
- [20] M. S. Moslehian, M. Kian and Q. Xu, Positivity of  $2 \times 2$  block matrices of operators, *Banach J. Math. Anal.* **13** (2019), no. 3, 726–743.
- [21] R. Tapdigoglu, M. Gürdal, N. Altwaijry and N. Sarı, Davis-Wielandt-Berezin radius inequalities via Dragomir inequalities, *Oper. Matrices* **15** (2021), no. 4, 1445–1460.
- [22] U. Yamanci, M. T. Garayev and C. Celik, Hardy–Hilbert type inequality in reproducing kernel Hilbert space: its applications and related results, *Linear Multilinear Algebra* **67** (2019), no. 4, 830–842.
- [23] U. Yamanci and M. Gürdal, On numerical radius and Berezin number inequalities for reproducing kernel Hilbert space, *New York J. Math.* **23** (2017), 1531–1537.
- [24] U. Yamanci, R. Tunç and M. Gürdal, Berezin numbers, Grüss type inequalities and their applications, *Bull. Malays. Math. Sci. Soc.* **43** (2020), 2287–2296.

Mehmet Gürdal

*Department of Mathematics, Suleyman Demirel University, 32260, Isparta, Turkey*

E-mail address: gurdalmehmet@sdu.edu.tr

Hamdullah Başaran

*Department of Mathematics, Suleyman Demirel University, 32260, Isparta, Turkey*

E-mail address: basaranhamdullah@hotmail.com

Received: December 6, 2021; Revised: February 9, 2022; Accepted: February 16, 2022